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We have that Sy = 42 1529 (see ?, Problem 3.28, p. 143
43 2

Open problem. Calculate S, for k& > 3.

(b) An alternating quadratic series.

We have Ay = g ~ Iz TIn?2 4 $ (see [?, Problem 3.44, p. 146]).
Open problem. Calculate A, for k > 3.
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0Q5594. Find

lim n(2m—1)/2 . A™ (\/’I—'L),

n—o0

where A™ is difference operator of the m-th order.
Conjecture:

. (@m—1)/2 (=)™ m!
lim n@m=1/2. A™ (\/7) =
n—o0 2+ /n(n+1)...(n+ 2m)
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0Q5595. Let (e, be sequence defined by recurrence
neNU{0}

| AL S S
n+1k=0k+2

€nt1 = *en—k
and ep = 1. Prove that e, < e, for any n € NU {0}.

Arkady M. Alt



